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Chapter C Solutions. Rainbows 
 
HW-C1. Secondary Rainbow. Determine the rainbow angles for the secondary rainbow. 

 
First sum the angles in the center of the 
raindrop. 
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Solve for  . 
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Secondary Rainbow: Red is on bottom at 50° and Violet is on top with rainbow angle 54°. 

This problem requested answers to two significant figures. 



HW-C2. Glass Bow. Raining crown glass beads. 
 

 

Primary Rainbow (from text): 
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This problem asked for three significant figures. 

Range is from 19.6° (violet) to 21.1° (red) 

 

 


